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1. On completing your answers, compulsorily draw diagonal cross lines on the remainin
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note :

50, will be treated as malpractice.
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Time: 3 hrs.
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18MES5S6

Operation Manag ﬁent

Max. Marks: 100
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Note: Answer any FIVE full questions, chdasiﬁ’ﬁg ONGE full question from each module.

{ ﬁon system are classified.
v (10 Marks)
(10 Marks)

u : ‘OR
Define decision making. Briefly explain the charactéristics of operation decisions. (10 Marks)
Explain break even analysis with necessary equations graphs and assumptions. (10 Marks)
S ModuléiZ
Define forecasting. Explain linear regression and exponential smoothing. (10 Marks)
Use the least squares method to develop a linear trend equation for the data. State the
equation complete with signature-and:forecast a trend value for year 16.

Year . X Y b

1 25

2 16

3 9

4 L4

A 81

6 0

Tou, 1
- RN 4
: by 9 9
10 16

11 25

& (10 Marks)
N ~.© OR
Briefly explain the components of time series method with sketches. (10 Marks)
Explain the steps in the forecasting process. Briefly. (10 Marks)
L Module-3

Explain briefly : (i) Capacity planning (i) System capacity
(i) Design capacity (iv) Facility layout. (10 Marks)
Explain with ne“at sketch any two types of layout. (10 Marks)

il
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OR
What are the factors influencing plant location? Explqm M%ly (10 Marks)
Explain the various capacity measures. What are the cié%acrcy strategies? (10 Marks)
odule%%
Define aggregate planning. Explain the str tegle”yused for aggregate planmng in brief.
(10 Marks)

What are the functions of Master Prodactron Schedule? State the dﬂa&“‘éfence between AP and
MPS. : 10 Mark

% “ & ( arks)

ﬂ., Y OR w%@%;rﬁ

What are the objectives of M%é%r Production Schedulmg”%xplam the Master Production
Schedule with a neat dlagram ( (10 Marks)
(10 Marks)

Module-S .
Deﬁne MRP. What%are the various steps involved in the implementation of MRP? (10 Marks)
. fe. e benefits and limitation of MRP. (10 Marks)

A, W‘% ¥
S, OR
Explain’ Bulmlp effect. What are* the root causes for bull whip effect‘? (10 Marks)

Def%su@f;&gly chain. Explain sup




